Environmental EPD

THE INTERNATIONAL EPD® SYSTEM

PrOdUCt
Declaration

In accordance with 1ISO 14025:2006 and EN 15804:2012+A2:2019/AC:2021 for:
Convectors (WK2, WKS, WKI, WKH, WKHI,
WKL, WKK, WRR, WRRI, WRRH, WRRHI)

from

Watt Heating AB

wWarr

Programme: The International EPD® System, www.environdec.com
Programme operator: EPD International AB

EPD registration number: | EPD-IES-0022658

Publication date: 2025-05-09

Valid until: 2030-05-08

EPD of multiple products based on average products and the material composition per kg
does not change within the range. The included products are described in the production

information.

An EPD should provide current information and may be updated if conditions change. The stated
validity is therefore subject to the continued registration and publication at www.environdec.com



http://www.environdec.com/

wWaTT ——=EPD"

THE INTERNATIONAL EPD® SYSTEM

General information
Programme information

Programme: The International EPD® System
EPD International AB

Address: Box 210 60
SE-100 31 Stockholm
Sweden

Website: Wwww.environdec.com

E-mail: info@environdec.com

Accountabilities for PCR, LCA and independent, third-party verification

Product Category Rules (PCR)

CEN standard EN 15804 serves as the Core Product Category Rules (PCR)

Product Category Rules (PCR): Construction Products PCR 2019:14 version 1.3.4

PCR review was conducted by: The Technical Committee of the International EPD System. See
www.environdec.com for a list of members. Review chair: Claudia A. Pefia, University of Concepcién,
Chile. The review panel may be contacted via the Secretariat www.environdec.com/contact

Life Cycle Assessment (LCA)

LCA accountability: Fanni VVégvari, CarbonZero AB

Third-party verification

Independent third-party verification of the declaration and data, according to ISO 14025:2006, via:
EPD verification by individual verifier
Third-party verifier: Vladimir Ko¢i, LCA Studio

Approved by: The International EPD® System

Procedure for follow-up of data during EPD validity involves third party verifier:

O Yes No

The EPD owner has the sole ownership, liability, and responsibility for the EPD.

EPDs within the same product category but registered in different EPD programmes, or not compliant
with EN 15804, may not be comparable. For two EPDs to be comparable, they must be based on the
same PCR (including the same version number) or be based on fully-aligned PCRs or versions of
PCRs; cover products with identical functions, technical performances and use (e.g. identical
declared/functional units); have equivalent system boundaries and descriptions of data; apply
equivalent data quality requirements, methods of data collection, and allocation methods; apply
identical cut-off rules and impact assessment methods (including the same version of characterisation
factors); have equivalent content declarations; and be valid at the time of comparison. For further
information about comparability, see EN 15804 and 1SO 14025.

PAGE 2/18


http://www.environdec.com/

wWaTT ——=EPD"

THE INTERNATIONAL EPD® SYSTEM

Company information

Owner of the EPD:

Watt Heating AB

Transportvagen 7, 241 38 Eslov, Sweden

E-mail: info@watt.se
Tel: +46 413 664 60
Website: www.watt.se

Responsible person: Mikael Andersson, mikael.andersson@watt.se

Description of the organisation:

Watt is a privately owned company within Climate Brand Group. Watt is a complete supplier of
products for indoor climate supplied by water. Main customer focus is on installation companies like
plumbers but also building companies and DIY. Watt’s focus is on the Swedish market but also active
in other Nordic countries. Watt products is always CE marked and tested according to EN442. We
focus on good quality products to a very competitive price with high function and low environmental
impact.

Name and location of production site: Brno, Czech Republic

Product information
Product name: Convectors

Product description:

This EPD presents detailed results for the convector WK2. The WK2 convector is representative of the
results for the full range of Watt Heating convectors mentioned in this EPD and include also the range
of Radiator Robust. They are mostly made of low-alloyed steel, which is a material that can be reused
countless times. This makes convectors a good environmental option in the long term. It has a lifespan
of at least 50 years and therefore makes a great product to use in both new buildings and buildings
facing renovations. The convectors meet all the requirements and standards within the EU and
industry, such as EN-442-1:2014.

The thermostat on the convectors is excluded from calculations.

Description of production process:

The entire production of the convectors occurs in Brno, Czech Republic and the finished products are
delivered to Eslév before delivery to Watt costumers. The production process involves rectangular
steel profiles being welded and painted (preparing treatment, painting and drying), before the products
are packed for delivery to Sweden.

UN CPC code: 44823 — Radiators for central heating, not electrically heated, of iron or steel

Geographical scope: Europe; Czech Republic for manufacturing and Sweden for distribution and end-
of-life.

Products included:

This EPD covers the full range of convectors manufactured in Czech Republic. The EPD presents
detailed results for the convectors. The WK2 convector is representative for the full range of Watt
Heating convectors, since the material composition per kg of product is the same over the entire
product range.

PAGE 3/18


mailto:info@watt.se
mailto:mikael.andersson@watt.se

nwWarr

——=EPD"

THE INTERNATIONAL EPD® SYSTEM

The included variants are presented in the table below.

Product name (Swedish)
Watt Konvektor 2

Watt Konvektor Standard

Watt Konvektor Integrerad

Watt Konvektor Hygien

Watt Konvektor Hygien Integrerad

Watt Konvektor Klimatlist

Watt Kyrkbénkskonvektor

Watt Radiator Robust

Watt Radiator Robust Integrerad

Watt Radiator Robust Hygien

Watt Radiator Robust Hygien Integrerad

Abbreviation
WK2

WKS
WKI
WKH
WKHI
WKL
WKK
WRR
WRRI
WRRH
WRRHI

Link to website
https://watt.se/produkter/konvektorer/wk2

https://watt.se/produkter/konvektorer/wks
https://watt.se/produkter/konvektorer/wki
https://watt.se/produkter/konvektorer/wkh
https://watt.se/produkter/konvektorer/wkhi
https://watt.se/produkter/konvektorer/wkl
https://watt.se/produkter/konvektorer/wkk
https://watt.se/produkter/radiatorer/wrr
https://watt.se/produkter/radiatorer/wrri
https://watt.se/produkter/radiatorer/wrrh

https://watt.se/produkter/radiatorer/wrrhi

All the products have the same material composition per kg, hence no variations between the

products.

PAGE 4/18



wWaTT ——=EPD"

THE INTERNATIONAL EPD® SYSTEM

LCA information

Declared unit: 1 kg of convector

Reference service life: Not applicable

Time representativeness: 2023

Database(s) and LCA software used: Calculation completed in LCA for Experts v.10.7, with the
database version 2024.1 and with some ecoinvent datasets (version 3.8). The characterization factors
used in this study refer to PCR 2019:14 and EN 15804+A2 (based on EF 3.1).

Description of system boundaries:
Cradle to gate with options, modules C1-C4, module D and with optional modules (A1-A3+ C + D
and additional modules A4+Ab5).

System diagram:

Al A2 A3 A4 A5 B1 -B7 Cl-C4
Resource Energy Demolition
Extraction ¢ — ¢ ¢
and : @ LB TES @ Installation —> En'd i
processing ——» Assembly and —_—> at site —> life
of raw manufacturing |
materials ¢
@ @5
o 8 &
g e £ S
; —
Excluded Transport %@ Module D: Benefits and loads beyond the system boundary. Reuse, recycling, and recovery potential

More information — methodology and assumptions:

A1l-A3 -Product stage

The upstream stage of the LCA is subdivided into “Raw material supply”, “Transport” and
“Manufacturing” modules. Data collection for specific data represents the production year of 2023 and
the specific data used from specific supplier EPD and datasets which represent the last 5 years as the
oldest data is from 2021. Please note that modules A1-A3 is representative of supplier EPD for the
convectors manufactured in Czech Republic.

Al - Raw material supply

This module considers the extraction and processing of all raw materials, energy, and
transportation which occur upstream of the studied manufacturing process. The products are made
from steel and covered with powder paint.

A2 — Transport to the manufacturer

This module includes the transportation of raw materials to the manufacturing site. Specific information
from the manufacturer was obtained regarding the transportation distance between the suppliers to
the manufacturing factory.

PAGE 5/18




wWaTT ——=EPD"

THE INTERNATIONAL EPD® SYSTEM

A3 - Manufacturing

This module includes all resources used during the production of the convectors, mainly electricity and
natural gas, and it also includes the production of packaging material in which the products are
transported to customers. The manufacturer has collected data from the production year of 2023. As
there’s only one manufacturing site, no variation in production sites occurs.

A4 — Transport

This stage includes transportation from the manufacturing site in Brno, Czech Republic to Watt
Heating in Eslov (1 025 km). An additional 500 km is considered for transport to the building site or
customers, who are located within Sweden.

Transport to the building site
Scenario information Unit per declared unit

Fuel type and consumption of vehicle or vehicle type used

for transport e.g. long-distance truck, boat, etc. e e el [E 0 B il = 200 g el

Distance 1525 km
Capacity utilisation (including empty returns) 61%

Volume capacity utilisation factor (factor: =1 or<1 or 2 1 for

compressed or nested packaged products) Not applicable

A5 — Construction installation

The installation of the products is taking place with an electric drilling machine and the impact from this
action is expected to be below the cut-off boundary and is therefore excluded. In addition to the
installation, the waste treatment of packaging is included here since this is where the packaging
leaves the product system.

The following disposal routes were used for packaging, based on Swedish statistics (2020).

Material Recycling rate Incineration rate Landfill rate
Cardboard 0% 100% 0%
Plastic 26% 74% 0%

B1-B7 — Use stage
This stage is not declared.

C1 Deconstruction/Demolition

This stage includes the deconstruction of the product when it no longer is in use. In this study the
deconstruction happens by hand using an electric drill machine for which the impact is considered as
negligible.

C2 Transport

This module represents the transport distance to the waste processing facility . It is assumed that the
transportation distance to the waste processing facility is 50 km.

C3 Waste processing
This module includes any waste treatment needed. Swedish statistics is used to assign the different
materials to the appropriate waste treatment process.

The following waste treatment rates were used. The powder coating is assumed to be incinerated
within the steel recycling process.

PAGE 6/18



wWaTT ——=EPD"

THE INTERNATIONAL EPD® SYSTEM

Material Recycling rate Incineration rate Landfill rate
Steel 95% 0% 5%
Powder coating 0% 100% 0%
C4 Disposal

This module includes any material that is landfilled. For this product, it is the non-recyclable part of
steel.

Process Unit (expressed per declared unit)
Collection process specified by 1 kg collected separately
type 0 kg collected with mixed construction waste

0 kg for re-use
Recovery system specified by type  0.9405 kg steel for recycling
0.001 kg powder coating for energy recovery

Disposal specified by type 0.0495 kg steel for final deposition
Assumptions for scenario The transportation is modelled with the same specification as the truck transportation
development, e.g. transportation in module A2, except for the transportation distance that is set to 50 km.

D Benefits and loads beyond the system boundary

This module includes loads and benefits obtained from energy recovery and or recycling materials.
For this product it is mainly the recycling of metals that leads to recovered metals so that production of
virgin metal is avoided, or the energy recovered from incineration removing electricity and heat being
produced elsewhere. Swedish electricity grid mix and process steam from natural gas is used for
crediting the heat produced.

Infrastructure

The plants, production of machines and transportation systems are excluded from the calculations.
However, electricity is one such input for which it is not possible to exclude the impact from
infrastructure already included in the dataset, but no data on infrastructure has been manually added
to the product system.

Cut-off criteria
The following procedures were followed for the exclusion of inputs and outputs

e Allinput and output flows in a unit process were considered i.e., taking into account the value
of all flows in the unit process and the corresponding LCI where data was available

e Processes of infrastructure or capital goods are excluded from this study (except when it is
already included in a dataset used)

e Generic national data was used for modules C1-C4 and D, as no specific data was able to be
collected

e The use of cut-off criterion on mass inputs and primary energy at the unit process level (1%)
and at the information module level (5%) was applied

No hazardous and toxic materials or Substances of Very High Concern (SVHC) according to
REACH is included in the inventory, and the cut-off rules do not apply.

Allocation
Allocation criteria are based on mass.

PAGE 7/18



wWaTT ——=EPD"

THE INTERNATIONAL EPD® SYSTEM

Modules declared, geographical scope, share of specific data (in GWP-GHG results) and data
variation (in GWP-GHG results):

Construction Resource
Product stage process Use stage End of life stage recovery
stage stage
o)
(=
kS =
= = (&)
(] =
= w | o| © &
> 5] S (2] e o)
S T 21 2| S o) e
o + 21 5| © c >
S (%2} ) = c — -
%) c = c ®© o (%2} (@)
— (o)) = - c o 2 = 1) S
< £ = ) c () S Q (o}
= = © Q Q E| 8| ® = 8 S
b5 = = = 3 @ E|l €| s|s|&s|lg| 2] = S _
S S | g <3 = c c|le2|2|8|2|g|a|TS T3
S - —
S %) 5 %) 7 2 = | 2 © © o %) 1) o] =
= c c = c o | £ o | ol 2 @ @ @ = 9 o S50
T o (] © S %) < ) ) © o | o o © 0 B
x = = = O |o|ls|le|lae|le|0|l0|laol|lE|=]8 x s
Module Al A2 A3 A4 A5 Bl [ B2 | B3| B4 | B5 | B6 | B7 | c1 | c2 | c3 | c4 D
Modules
declared X X X X X ND | ND | ND | ND [ ND | ND | ND | X X X X X
Geography | GLO | GLO cz EU SE - - - - - - - SE | SE | SE | SE SE
Specific
data used 66*% - - - - - - - - - - - - - -
Variation —
products 0% - - N - - - - N - - - - - -
Variation —
sites 0% N N - N - N N - N - - - - -

*This value is taken from the EPD that represents the manufacturing of the convectors. The data is
further taken from specific information about the manufacturing of steel.

PAGE 8/18




nwWarr

——=EPD"

THE INTERNATIONAL EPD® SYSTEM

Content information

Weight,

Product components kg 9
Steel 9,90E-01
Powder coating 1,00E-02
TOTAL 1,00E+00
. : Weight,

Packaging materials kg 9
Cardboard 4,00E-02
LDPE 4,00E-03
HDPE 2,00E-03
TOTAL 4,60E-02

Biogenic material,

Post-consumer material, weight-% and kg C/

i -0, .
Sy -t declared unit
18** Oresp. 0
0 Oresp. 0
0 Oresp. 0

Weight biogenic

i -0,
Weight-% (versus the .00 kg Cf declared

roduct .

P ) unit

4,0 0,42
0.4 Oresp. 0
0,2 Oresp. 0
4,6 0,42

The content declaration shows the content of the representative product, as suggested in PCR.
**Based on steel supplier's EPD; post-consumer and pre- consumer are not distinguishable

Dangerous substances
from the candidate list of
SVHC for Authorisation

EC No.

Not relevant.

Mass-% per functional or declared

CAS No. .
unit

PAGE 9/18



wWaTT —==EPD"

THE INTERNATIONAL EPD® SYSTEM

Results of the environmental performance indicators

The estimated impact results in this section are only relative statements, which do not indicate the endpoints of the impact categories, exceeding threshold
values, safety margins and/or risks. Furthermore, the results of the end-of-life stage (module C) should be considered when using the results of the production
stage (modules A1-A3).

Mandatory impact category indicators according to EN 15804

Indicator Unit AL-A3 A4 A5 c1 c2 c3 ca D
Gt;’YaF; kg CO; eq. 3,59E+00 3,59E-02 1,20E-01 0,00E+00 3,59E-03 1,61E-03 2,33E-03 -1,65E+00
GWP-fossil kg CO; eq. 3,69E+00 3,59E-02 1,57E-02 0,00E+00 3,59E-03 1,61E-03 2,32E-03 -1,65E+00
GWP-biogenic kg CO, eq. -1,04E-01 2,17E-05 1,04E-01 0,00E+00 5,95E-08 3,24E-06 3,43E-06 3,23E-04
‘flmz kg CO; eq. 2,55E-03 2,02E-06 2,42E-06 0,00E+00 2,02E-07 1,82E-07 3,43E-06 -9,13E-04
oDP kg CFC 11 eq. 1,75E-07 8,37E-09 4,47E-12 0,00E+00 8,37E-10 2,57E-11 3,64E-15 1,96E-12

AP mol H* eq. 1,18E-02 1,06E-04 1,91E-05 0,00E+00 1,06E-05 1,50E-05 7,24E-06 -3,96E-03
EP-freshwater kg P eq. 6,27E-04 3,83E-07 8,03E-08 0,00E+00 3,83E-08 4,96E-08 1,59E-09 4,47E07
m"i':r']e kg N eq. 2,72E-03 3,12E-05 6,90E-06 0,00E+00 3,12E-06 6,94E-06 1,86E-06 6,43E-04
EP-terrestrial mol N eq. 2,87E-02 3,43E-04 8,49E-05 0,00E+00 3,43E-05 7,54E-05 2,04E-05 5,80E-03
POCP kg NMVOC eq. 8,84E-03 7,79E-05 1,84E-05 0,00E+00 7,79E-06 2,23E-05 5,65E-06 -2,59E-03

PAGE 10/18




wWaTT —==EPD"

THE INTERNATIONAL EPD® SYSTEM

ADP-

e kg Sb eq. 2,84E-05 6,49E-09 2,17E-09 0,00E+00 6,49E-10 5,64E-10 7,45E-11 -9,07E-06
ADP-fossil* MJ 4,39E+01 5,11E-01 2,57E-02 0,00E+00 5,11E-02 2,11E-02 1,78E-02 -1,70E+01
WDP* m? 2,10E+00 5,40E-04 8,39E-03 0,00E+00 5,40E-05 7,13E-05 2,81E-04 -1,12E-01

GWP-fossil = Global Warming Potential fossil fuels; GWP-biogenic = Global Warming Potential biogenic; GWP-luluc = Global Warming Potential land use and land use
change; ODP = Depletion potential of the stratospheric ozone layer; AP = Acidification potential, Accumulated Exceedance; EP-freshwater = Eutrophication potential,
fraction of nutrients reaching freshwater end compartment; EP-marine = Eutrophication potential, fraction of nutrients reaching marine end compartment; EP-terrestrial =

Acronyms Eutrophication potential, Accumulated Exceedance; POCP = Formation potential of tropospheric ozone; ADP-minerals&metals = Abiotic depletion potential for non-fossil
resources; ADP-fossil = Abiotic depletion for fossil resources potential; WDP = Water (user) deprivation potential, deprivation-weighted water consumption

* Disclaimer: The results of this environmental impact indicator shall be used with care as the uncertainties of these results are high or as there is limited experience with the indicator.

PAGE 11/18



wWaTT —==EPD"

THE INTERNATIONAL EPD® SYSTEM

Additional mandatory and voluntary impact category indicators

Indicator Unit Al1-A3 A4 A5 C1 Cc2 C3 C4 D
GWP-GHG*! kg CO, eq. 3,70E+00 3,59E-02 1,57E-02 0,00E+00 3,59E-03 1,61E-03 2,32E-03 -1,65E+00
PM Disease incidence 4,97E-08 5,51E-10 1,88E-10 0,00E+00 5,51E-11 4,13E-10 8,01E-11 -3,72E-08
IRP** kBqg U235 eq. 1,98E-01 2,32E-03 1,67E-04 0,00E+00 2,32E-04 1,00E-05 3,58E-05 2,17E-02
ETP-fw* CTUe 6,46E+00 1,37E-01 1,11E-02 0,00E+00 1,37E-02 9,93E-03 1,34E-02 -8,70E-01
HTTP-c* CTuh 1,46E-09 2,20E-12 1,76E-12 0,00E+00 2,20E-13 5,15E-13 2,43E-13 6,40E-10
HTTP-nc* CTUh 1,32E-08 3,97E-11 1,35E-11 0,00E+00 3,97E-12 3,53E-12 8,12E-12 2,99E-09
SQP* Dimensionless 1,00E+01 6,24E-02 1,01E-02 0,00E+00 6,24E-03 1,41E-03 3,03E-03 -4,74E-01

* The results of this environmental impact indicator shall be used with care as the uncertainties on these results are high or as there is limited experienced with the indicator.

** This impact category deals mainly with the eventual impact of low dose ionizing radiation on human health of the nuclear fuel cycle. It does not consider effects due to possible nuclear accidents,
occupational exposure nor due to radioactive waste disposal in underground facilities. Potential ionizing radiation from the soil, from radon and from some construction materials is als 0 not measured
by this indicator.

1 This indicator accounts for all greenhouse gases except biogenic carbon dioxide uptake and emissions and biogenic carbon stored in the product. As such, the indicator is identical to GWP-total
except that the CF for biogenic CO, is set to zero.

PAGE 12/18




wWaTT —==EPD"

THE INTERNATIONAL EPD® SYSTEM

Resource use indicators

Indicator Unit A1-A3 A4 A5 C1 Cc2 C3 C4 D
PERE MJ 6,77E+00 1,34E-03 5,28E-03 0,00E+00 1,34E-04 1,20E-04 2,95E-03 1,60E-01
PERM MJ 6,28E-06 0,00E+00 -8,00E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
PERT MJ 6,77E+00 5,11E-01 -7,95E-01 0,00E+00 5,11E-02 2,11E-02 1,78E-02 -1,70E+01

PENRE MJ 4,76E+01 0,00E+00 2,57E-02 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
PENRM MJ 2,57E-08 0,00E+00 -2,76E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
PENRT MJ 4,76E+01 0,00E+00 -2,50E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
SM kg 2,66E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
RSF MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
NRSF MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
FW m?3 8,04E-02 1,26E-05 1,97E-04 0,00E+00 1,26E-06 1,66E-06 7,35E-06 -1,62E-01

PERE = Use of renewable primary energy excluding renewable primary energy resources used as raw materials; PERM = Use of renewable primary energy resources used
as raw materials; PERT = Total use of renewable primary energy resources; PENRE = Use of non-renewable primary energy excluding non-renewable primary energy
resources used as raw materials; PENRM = Use of non-renewable primary energy resources used as raw materials; PENRT = Total use of non-renewable primary energy re-

P sources; SM = Use of secondary material; RSF = Use of renewable secondary fuels; NRSF = Use of non-renewable secondary fuels; FW = Use of net fresh water

PAGE 13/18




wWaTT —==EPD"

THE INTERNATIONAL EPD® SYSTEM

Waste indicators

Indicator Unit Al1-A3 A4 A5 Cl Cc2 C3 Cc4 D

Hazardous waste disposed kg 9,37E-02 0,00E+00 9,97E-12 0,00E+00 0,00E+00 0,00E+00 4,00E-12 -1,22E-07

Non-hazardous waste

disposed kg 5,99E-01 0,00E+00 1,84E-03 0,00E+00 0,00E+00 0,00E+00 4,97E-02 1,90E-01
Radioactive waste disposed kg 1,71E-03 0,00E+00 9,86E-07 0,00E+00 0,00E+00 0,00E+00 2,64E-07 -1,18E-04
Output flow indicators
Indicator Unit A1-A3 A4 A5 c1 c2 c3 c4 D
Comp°":"5"és for re- kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
Material for recycling kg 5,30E-02 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
Ma‘e”rae'(fofv"gr;”ergy kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
Englretgf'rifirt‘srgy' MJ 0,00E+00 0,00E+00 1,15E-01 0,00E+00 0,00E+00 0,00E+00 1,40E-03 0,00E+00
OIS CE, MJ 0,00E+00 0,00E+00 2,08E-01 0,00E+00 0,00E+00 0,00E+00 2,63E-03 0,00E+00

thermal

PAGE 14/18




wwWaTTr “==EPD

THE INTERNATIONAL EPD® SYSTEM

Additional requirements

Electricity mix from the use of electricity in manufacturing.

Generation of electricity consumed within the manufacturing factory was based on the Czech residual
electricity grid mix. GWP-GHG indicator of the used residual electricity grid mix is 0,64 kg CO2
eq./kWh.

1,47% —_0,01% 3,34%

5,86% I
0,63% 0,11%

m Biomass = Hardcoal ®m Heavy Fuel Oil = Hydro = Naturalgas = Nuclear ® Photovoltaic = Wind

Czech Republic Energy mix

PAGE 15/18



nwWarr

——=EPD"

THE INTERNATIONAL EPD® SYSTEM

References

EN 15804:2012+A2
EPD International (2024)
ISO 14020:2022

ISO 14025:2006

ISO 14040:2006

ISO 14044:2006

PCR 2019:14

SCB 2020

Sustainability of construction works — Environmental product declaration —
Core rules for the product category of constructions products

General Programme Instructions of the International EPD® System, version
4.0

International Standard ISO 14020 — Environmental statements and
programmes for products — Principles and general requirements

International Standard 1SO 14025 — Environmental labels and declarations —
Type Il environmental declarations — Principles and procedures

International Standard 1SO 14040: Environmental Management — Life cycle
assessment — Principles and framework. Second edition 2006-07-01.

International Standard ISO 14044: Environmental Management — Life cycle
assessment — Requirements and Guidelines.

Construction products v1.3.4

Treated waste by treatment category and waste category. Every second year
2010-2020. (Retrieved 2025-04-08)

PAGE 16/18



awWaTTr “==EPD

THE INTERNATIONAL EPD® SYSTEM

Contact Information

EPD owner: E Wa#

Email: info@watt.se
Address: Transportvagen 7, 241 38 Esldv, Sweden

{7 CARBONZERO

Fanni Végvari
Email: fanni.vegvari@carbonzero.se
Address: Tastrupsgatan 2, SE-262 63 Angelholm, Sweden

LCA author:

Third-party verifier:

LCA
Studio

Vladimir Koci

Email: Vladimir.Koci@Ilcastudio.cz

Address: LCA Studio, Sarecka 1962/5, 160 00 Praha 6, Czech
Republic

Program operator: s E P D ®

THE INTERNATIONAL EPD® SYSTEM

EPD International AB

Email: info@environdec.com
Telephone: +46 (0)73 311 30 20
Address: SE-11427 Stockholm, Sweden

PAGE 17/18



mailto:fanni.vegvari@carbonzero.se
mailto:Vladimir.Koci@lcastudio.cz

~==EPD’

Www.environdec.com



